OS5 AR E BiE

R=4 20125 BBRTITA—ToLAVAE FER TR24&E3R248 ~ 3A25H
95 R 47095 X R EBEIVRN—N—
ey 2w N— HL— HL— -bN—OJ[, - 1R 2R 3R 4R 5R 6R 7R 8R ‘ff g _
' 5 R|E M R|E K R|E KRB K R|E KRB B R|E B K|S B
BHKF EDgR | NAE 3656 [ 2| 2| 2|3 2| 2| 2 |RAF 10|DNC|DNC| 10| 6 | 6 | 6 | 2 | 2 | 2 |DNF|DNF| 10 |DNC|DNC| 10 42 3
ZHKE RS | EERES 3103 |DNc|DNc| 10 [DNC|DNC| 10 [DNe|DNC| 10 [DNC|DNG| 10| 5 | 5 | 5| 3 | 3 | 3 |DNF|DNF| 10 [DNC|DNC| 10 58 6
FBHMRE |HEREES BFEBA 3839 |ocs|ocs| 10 |DNC|DNC| 10 [DNC|DNC| 10 [DNC|DNC| 10 [DNF|DNF| 10 [DNC|DNC| 10 |DNC|DNC| 10 [DNC|DNC| 10 70 8
FMFRKRE | BEXE AAE | RAEE | 3398 |11 1|21 1|1 1|11 1] 1|2]|2]2]|onNsDNs 10|DNs|DNS 10| 1 | 1| 1 17 1
BHERKE | NERH | THKRNT | FIFE 3655 |DNC|DNC| 10 |DNC|DNC| 10 [DNC|DNC| 10 |DNC|DNC| 10 3 | 3 | 3|4 | 4 | 4| 3 | 3 | 3 [DNC/DNC| 10 50 9
BMITERE | BER RKE 3876 | 4 | 4 | 4 |ons|pns| 10 [one|pNe| 10 |pNe|pne| 10 [pne|DNG| 10 |DNG|DNG| 10 |DNG|DNG| 10 [DNC DNG| 10| 64 7
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L —2# 78 % 123207 13:19:26 13:51:22 14:27:13 9:41:28 10:28:05 11:24:44 13:54:03
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